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Inheritance and Contracts

interface I2 {
public void f();
public void g();
}

class D1 : I2 {
public void f() {
Console.Writeline("D1.f")s ~p» DI1.f machine code
}

public void g() {
Console.WritelLine("D1l.g" m~p D1.g machine code
}
}

class D2 : D1 {
public new void g() {
Console.WritelLine("D2.g")s~p» D2.g machine code
}
}

class D3 : D1, I2 {
public new void g() {
Console.WriteLine("D3.g") r~p D3.g machine code
¥
}

I2 i2 = new D1();
i2.f();
i2.g0);
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interface I2 { System.Type instance >
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class D1 : I2 { I
public void f() { 1
Console.Writeline("D1.f")s ~p» DI1.f machine code <7 l‘l
} z At
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} Console.WriteLine("D1.g" m~p D1.g machine code z::lﬂaeThe(;dzz & inherits from "D1 - :
} |
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class D2 : D1 { 1
public new void g() { l
Console.WriteLine("D2.g")s ~p» D2.g machine code I
}
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System.Type instance /
class D3 : D1, I2 { - Name: "D3" & inherits from "D1" .o = == == == == = o’
public new void g() { -> Methods:
Console.Wr‘iteLine("DB.g")r~» D3.g machine code
} P2
}
I2 i2 = new D1();
i2.F();
i2.g0); U
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le. "D1.g")3; D1.g machine code
: Console.WritelLine( g")yr~p Dleg S Methods: .
} public void D1.f() |
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class D2 : D1 { — public void D2.g() |
public new void g() { I |
Console.WritelLine("D2.g")s~p» D2.g machine code «¢ |
} |
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} ®
System.Type instance /
class D3 : D1, I2 { - Name: "D3" & inherits from "D1" .o = == == == == = o’
public new void g() { -> Methods:
Console.Wr‘iteLine("DB.g")r~» D3.g machine code
} P2
}
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Inheritance and Contracts

interface I2 {
public void f();
public void g();
}

class D1 : I2 {
public void f() {
Console.Writeline("D1.f")s ~p» DI1.f machine code <7
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System.Type instance
- Name: "D1"
- Methods:

public void D1.f()

}

public void g() {
Console.WriteLine("D1.g") s ~p» D1.g machine code
}
}

class D2 : D1 {
public new void g() {
Console.WritelLine("D2.g")s~p» D2.g machine code «¢

=== public void D1.g()
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- Methods:

public void D1.f()

public void D1.g()

}
}

class D3 : D1, I2 {
public new void g() {
Console.WriteLine("D3.g") r~p D3.g machine code
¥
}

I2 i2 = new D1();
i2.f();
i2.g0);

— public void D2.g()
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} public void D3.g()
I2 i2 = new D1(); I
i2.f();
i2.g0);

call stack

2

GC heap >




Inheritance and Contracts
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- Methods:
public void I2.f()
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interface I2 {
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class D1 : I2 {
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void g() +

Console.Writeline("D1.f")s ~p» DI1.f machine code <7
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public void g() {
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public new void g() {
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